www.tomsmath.com
$\frac{1}{2}+\frac{3}{4}=\frac{1}{2}\left(\frac{2}{2}\right)+\frac{3}{4}=\frac{2}{4}+\frac{3}{4}=\frac{2+3}{4}=\frac{5}{4}$
We multiply by $\frac{2}{2}$ to make the same denominator. $\frac{2}{2}$ is a form of the number 1.

1) $\frac{1}{3}+\frac{5}{6}=\frac{1}{3}(-)+\frac{5}{6}=\frac{+}{6}=\frac{}{6}$

We multiply by - to make the same denominator.

- is a form of the number 1.

2) $\frac{1}{2}+\frac{2}{14}=\frac{1}{2}(-)+\frac{2}{14}=\frac{+}{14}=\frac{}{14}$

We multiply by - to make the same denominator. - is a form of the number 1.
3) $\frac{1}{2}+\frac{3}{10}=\frac{1}{2}(-)+\frac{3}{10}=\frac{+}{10}=\frac{}{10}$

We multiply by - to make the same denominator.

- is a form of the number 1.

4) $\frac{1}{4}+\frac{3}{8}=\frac{1}{4}(-)+\frac{3}{8}=\frac{+}{8}=\frac{}{8}$

We multiply by _ to make the same denominator.

- is a form of the number 1.

5) $\frac{2}{5}+\frac{2}{15}=\frac{2}{5}(-)+\frac{2}{15}=\frac{+}{15}=\frac{}{15}$

We multiply by - to make the same denominator.

- is a form of the number 1.

6) $\frac{4}{3}+\frac{2}{15}=\frac{4}{3}(-)+\frac{2}{15}=\frac{+}{15}=\frac{}{15}$
7) $\frac{2}{5}+\frac{3}{15}=\frac{2}{5}(-)+\frac{3}{15}=\frac{+}{15}=\frac{}{15}$

We multiply by - to make the same denominator.

- is a form of the number 1.

8) $\frac{3}{4}+\frac{7}{16}=\frac{3}{4}(-)+\frac{7}{16}=\frac{+}{16}=\frac{}{16}$

We multiply by - to make the same denominator. - is a form of the number 1.

